Al Of &8 AH & B Al A
20218 & =04 LBHSIH EX 22l
2N EXZel
A LD s8X EXl2e
S NMAYEX EERED
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
EX el 3,857,536 2,192,237 1,665,299
= 369,044
< 20,000
Al 3,468,492
S&5tD S8F0 EX2el 3,706,700 2,046,914 1,659,786
= 369,044
< 20,000
Al 3,317,656
KE A =& 146,913 115,700 31,213
= 15,485
Al 131,428
EXNOISEelAE 4,320 3,360 960
202 odl 4,320 3,360 960
01 SLHOIYI 4,320 3,360 960
OEX Ols X XA (4] 360,000& 122 4,320
SRENZEAY 840 2,520 A 1,680
201 Let24d] 840 840 0
01 At 22l 840 840 0
03 2g+g 840
PEREXNZEY fIs 4
70,0003 621 x23] 840
ANE=S-du HA 84,164 84,566 A 402
201 LBr2d| 79,844 79,526 318
01 At 2t 2l 62,800 62,800 0
O1 get==2Hl 62,800
PAURSLER el Sg+a2
200,000 x50 X 10,000
DAMINEE FNESH(H=EA L WEX
=2 120,000& *400& 48,000
PAREZE BEE 7Y 12,000& »400& 4,800
02 =224l 17,044 16,726 318
O1 2323 2 HMA 2,640
>GPS SEE&EH X EE HOIH 2=
50,0003 *2CHx12& 1,200
DXz JRuHa SHEH (U2 A XA
THZAL) 160, 000& 90! 1,440
O3 A& ZHl s Xt 10,000
ZZXHI(GPS, E8 S) RAES
1,000,000& = 10CH 10,000
O4 X+ & el 4,404
DUERIL(ESUH2SEEH)
4,404,000 = 1CH 4,404
202 o4dl 4,320 5,040 AT20




fAM: EXlZel

MZIH: DX
oc=Hm s oo

5
=@ XEA

23z EEREED
SA - BB B () - MM - BES Ol &t o San HmEET
01 = LH 4 bl 4,320 5,040 AT20
OXNHE=ZHR =& ot 360,000& 128 4,320
A= z2e 15,485 700 14,785
= 15,485
101 14l 15,005 0 15,005
= 15,005
4 D12t ZE2XREES 15,005 0 15,005
ORstARAHOETSIYE HdEEX 15,005
>olEas 73,000 x 121120 8,760
= 8,760
PEsd 73,0003 x101+21 1,533
= 1,533
> AX =S 73,0002 101 x5 365
= 365
> a0z 73,0003 x1Q1%22 1,606
= 1,606
D> & Mz AlH| 130,000 121 +x5& 650
= 650
>uNS2 Xl 120,000 12«53 600
= 600
>I0HZ 13,514,000% *4.5/100 609
= 609
DAHLEE 13,514,000& *3.33/100 451
= 451
DEIIRY 445,962 x10.25/100 46
- 46
PNEEE 13,514,000& *1.65/100 223
=2 223
DATHE S 16,114,000 *1/100 162
= 162
202 O4dl 480 700 A 220
= 480
01 =S LHAYI 480 700 A 220
OGPS& A ZEA R 22l SF 0
480,000& » 14! 480
= 480
AL HEst NHBIE MHlA WS 42,104 24,554 17,550
201 Let24d] 22,784 19,514 3,270
01 At 22l 14,438 14,438 0
O1 get=&Hl 14,438
DAHOIMEREH A2F(EH,E8)
300,000 +6CH*33] 5,400
DEAI A2E(EH,E8)
200,000& »2CH »32 1,200
>=EAMEX 25,0003 150 A 3,750




fAM: EXlZel

MZIH: DX
oc=Hm s oo

5
=@ XEA

=z CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
CHA ADE(EH.CH)
100,000 = 1CH x53] 500
>elEdl 23 66,000 » 184 1,188
DSEUFLESI 2E2F 200,000& =123l 2,400
02 =224l 8,346 5,076 3,270
O1 3322 ¥ HA 3,666
De2gs) 228 AHY AAZ=
33,0002 x12& 396
PREESMASAFONSIY 2 2HRI
2,180& x1,500A 3,270
O3 Al & Hl s Xl bl 4,680
>ateatsl sAEx 420,000& *43] 1,680
>etzetsdl 23 UA 1,000, 000& *32l 3,000
202 4l 4,320 5,040 AT20
01 = LH YI 4,320 5,040 AT20
O=Jtas ¥ 2ESHAHY R =3 0l
360,000 122 4,320
301 LeEBAF 15,000 0 15,000
12JIE 243 15,000 0 15,000
ORSMLRAOAS) 250 49
20,0003 50115024 15,000
HNESAIK I ZAFAE 155,908 161,924 26,016
= 74,254
Al 81,654
MHESAIXIL ZAHZ2F 151,008 157,024 26,016
= 74,254
Al 76,754
201 Let2d] 142,368 148,384 26,016
= 69,934
Al 72,434
01 At 221l 142,368 148,384 26,016
O1 Let==EH| 142,368
= 131,890
O &HE XDt 700& 157,000 Xl *1.1 120,890
= 60,445
Al 60,445
o2oA, 0l HEX It
20,0003 «500& Xl *1.1 11,000
= 5,500
Al 5,500
DOHARE(EH, &8, X S)
159,560& x50 x 102l 7,978
= 3,989
Al 3,989




fAM: EXlZel

dM: ZHolD s8HQ EX2e
SR HESAIXI O AL LA (&)
SA - BB B () - MM - BES Ol &t o San HmEET
PEEE 8% 2 EES MH
1,250, 000& 23| 2,500
202 O4dl 8,640 8,640 0
= 4,320
Al 4,320
01 = LH 4 bl 8,640 8,640 0
OMNESAIXIL 2 =F HHl 720,000& 128 8,640
= 4,320
Al 4,320
FSMIASARE 29 4,900 4,900 0
201 LBt | 4,900 4,900 0
01 At 22l 4,900 4,900 0
O3 2d=¢ 4,900
PRSAIH BASARE BHLY
70,000& 102! %73 4,900
HgRgzs 20 A= 117,390 117,630 A 240
Hgegs 2 2= 117,390 117,630 A 240
201 Let2d] 115,950 115,950 0
01 At 22l 115,950 115,950 0
O1 Let==EH| 115,600
DINLHI 2RI &0l =2 90,000
O ggt 1,000,000& 70 70,000
O EAHXREZAIHE ALY 20,000,000 * 14! 20,000
PSR NBN} BBL4E
40,000& 2502 10,000
DL RS S MR ZHLLE (L)
1,300,000 «624 x201 7| 2 15,600
O3 2g8=¢ 350
DIHLRE =S MEHCRE &+
70,000 521 x13] 350
202 odl 1,440 1,680 A 240
01 = LH o4 1l 1,440 1,680 A 240
Og=Rgzs 2UYF =& oyl
120,000& 128 1,440
C2Y Y ASHSROHAMYE =& 169,070 181,807 A12,737
< 20,000
Al 149,070
C2H Y ASHS BHAY 117,040 131,917 N 14,877
< 10,000
Al 107,040
201 et 77,720 91,877 AN 14,157
01 At 221l 76,130 90,130 214,000
O1 Let==EH| 74,450




2N EXZel
dM: ZHolD s8HQ EX2e
S9l: SR U ASUSHOAY = EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
DASHST 204 6,300& *1,500H 9,450
PEZH ROHAMY BEES ME
10, 000& *2, 0004 20,000
PEZHFA HUHAIES LHEA =2
2,000& 15,000 30,000
DEZHFA CHUHXE ME
5,000& *3,000% 15,000
O3 2d=¢ 1,680
PERYFEAAE BALY
70,0003 62! +43] 1,680
02 =224l 1,590 1,747 A 157
O1 3323 ¥ MA 1,590
DAGetE MIez 13,050 +«1HAx123 157
> ADBEKAIS S4HIE 39,800 «30 122 1,433
202 o4dl 4,320 5,040 AT20
01 = LH o4 1l 4,320 5,040 AT20
Oxz2d & FOHAME =& 0]
120,000& x321x12& 4,320
401 AIEHIZ S 35,000 35,000 0
= 10,000
Al 25,000
01 A& HI 35,000 35,000 0
OEzgza0l REPVERS
500,000 *700H 2 35,000
< 10,000
Al 25,000
SNFAZIEANAY A2 (INAETXE) 17,974 16,711 1,263
308 X EHSOIA 17,974 16,711 1,263
113/ 2SoHUHSZAEEALS I 17,974 16,711 1,263
O=3INF=ALFEANAE S22
17,974,000& 14 17,974
C2YEFA JE: RANES(2NHIEHXA) 14,056 13,179 877
308 A EHHSOIA 14,056 13,179 877
1132 SoHUHSIH4EAE ALS HI 14,056 13,179 877
OF2g =4 JI2t gXES
14,056, 000& 14 14,056
I I XNEFY =& 20,000 20,000 0
= 10,000
Al 10,000
201 Let24d] 20,000 20,000 0
= 10,000
Al 10,000
01 At 22l 20,000 20,000 0
O1 get=2Hl 20,000




2N
X ZH -
L= B

el

EX el
Tt 2SN EXNHL
TRY Y ASHSRUANY FX

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
>OIDA & =294 XY HH 29
20,000,000 x 14! 20,000
& 10,000
Al 10,000
WIZYE B0 Y A= £&X29 96,000 25,000 71,000
WINEY 20 Y A= E&x2d 96,000 25,000 71,000
401 Al HI L 204 HI 96,000 25,000 71,000
01 Al&H| 96,000 25,000 71,000
Ouxzy T X ¢ RAES
1,600,000& *60H 96,000
ANEAK &4 1,050 1,050 0
NEAF S &9 1,050 1,050 0
201 et 1,050 1,050 0
01 AP 2t 2] H| 1,050 1,050 0
O3 g% 1,050
DAEIAR S EHAHLH 70,000 501 %33 1,050
K& THZEAAIES 3,003,609 1,420,273 1,583,336
= 279,305
Al 2,724,304
XN&E THEAF AFS 2,723,464 1,069,433 1,654,031
201 LBt Y| 216,264 64,393 151,871
01 AP 22| H| 201,600 58,228 143,372
O1 t==2H| 196,000
PREMEA XPH SBEZ +48
1,000, 000& «50& X| 50,000
PRHMEA AETNNE L ASFRE X4
Y= 26,000,000 14! 26,000
DAEHEAIAE ZEZ2 AFY 2Z2EEHIL =2
= 40,000 x1,500%! X| x2EH 2l 120,000
O3 g4 5,600
PRHWEASIRE L BAZIAAE &A
=G 70,000& 821 x103] 5,600
02 E2=2=2%H| 14,664 6, 165 8,499
O1 2222 2 HA 14,664
DAEHEZTAIAIE 2 QERZ2
2,180 x6,00024 13,080
DR2HY HIEGAIAEY HOIH 22
66,000& =20 x12& 1,584
202 044 7,200 5,040 2,160
01 2L Hl 7,200 5,040 2,160
OXETZEAAIE =& O HI 600,000& x12& 7,200
301 et M= 2,500,000 1,000,000 1,500,000




fAM: EXlZel

Hm: ZFED 58N EXHE

S XETHEALALY (&)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
12JEEd= 2,500,000 1,000,000 1,500,000
OXNETHZALALY Z=FZ  2,500,000,000& » 14 2,500,000
K ETHEALALG =& 280, 145 350,840 AT0,695
= 279,305
Al 840
201 Yot Y| 6,880 0 6,880
= 6.880
01 AP 2teltl 6,880 0 6,880
O1 get=&Hl 6,880
DA EAAY =& 222 MH
6,880,000 14| 6,880
= 6,880
202 Oddl 6,000 0 6,000
= 6,000
01 = LH 4 di 6,000 0 6,000
OXETHZALALY =& OdHl 6,000,000 » 14 6,000
= 6,000
401 Al HIZ 201 Y] 267,265 350,840 A 83,575
= 266,425
Al 840
01 A& HI 266,425 350,000 A 83,575
OXI & THZ= AAHS 266,425,000& x 14! 266,425
= 266,425
03 Al 2 0HHI 840 840 0
OAIE S HHI 840,000& =14 840
FSs&HaH & SHY 2l 16,760 23,530 NB,770
234 S 22 16,760 18,040 A 1,280
201 €24l 10,000 10,000 0
01 At22t2l bl 8,500 8,500 0
O1 Let==ZH| 8,500
DEsHE M KA 35,000& = 1004 3,500
DSOS 4EHM E WA
10, 000& »3007H 3,000
DERESMAE 222 HME 2,000,000 1A 2,000
02 2324l 1,500 1,500 0
O1 22322 % HA 1,500
DESUHSIHYG 28 2ERI3 (YL SII)
1,500,000& * 14! 1,500
202 (4 Hl 5,760 5,040 720
01 = LH 4 Hi 5,760 5,040 720
ORI AL NEZ=s & AHelioF =A
(©h:]] 480,000& x12& 5,760




25 EX 22t
HM: ZBHGID 28X EX &2
el Ssade Y BHY 2l (chgl: &2
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
301 et A= 1,000 1,000 0
12 JIEtE2 A= 1,000 1,000 0
OSEHEH AlDEZAS 500,000 x224 1,000
MEess(EX22 ) 3,000 3,000 0
BEX= 3,000 3,000 0]
HeEEEZ ZIIEHE &2 3,000 3,000 0
802 Btat= DI Ef 3,000 3,000 0
03 JIEIEtEt 2 S 3,000 3,000 0
OHgEsez2 I8 s33 (et
1,000,000 x3AH 3,000
HHSAHAY (EX22 ) 147,836 142,323 5,513
Ol SAY|(E X 22l 1) 90,459 81,464 8,995
olEAY|(EXI 22 1) 90,459 81,464 8,995
101 e1214| 90,459 81,464 8,995
01 E% 87,813 78,818 8,995
OAZ2tZ224+% 10,841& *2721 *300A| 2+ 87,813
03 RIAHA*ZZXHE 2,646 2,646 0
Oy IZ22LE 2,646
PHEALR(URALE)
14,697 & x321 x60 Al 2+ 2,646
Jl2H Y (EX 22l 1) 57,377 60, 859 AN 3,482
Jl2dH (EXZ22l ) 57,377 60,859 N 3,482
201 LBt | 36,937 36,079 858
01 AP 22| d| 25,176 24,600 576
O1 gtf==2H| 19,800
DENSYE =24 1,000,000 x12& 12,000
DYOIN T2 ARE(EYH,EYH)
300, 000& *8CH x23] 4,800
>AUAFM TRIH(EH,EE)
100, 000& »1CH =83l 800
DEAI) ARE(EH,EY)
200,000 *x1CH *x63] 1,200
PRIEA B WM (BETY S)
1,000,000 = 14! 1,000
O5 &4 5,376
DOof2H. 522 8,0002 x563| x12& 5,376
02 2=2=24%H| 11,761 11,479 282
O1 222=2 % HA 8,847
DRER2 7,800
[ox=pI 22,1802 x25021 x12& 6,540




2N
X ZH -
L= B

el

EXZen
HYRAZH (EX 22 )
=AU (EX22D)

SA BB O () - NRAY - HES 0l &+ o4 il
[OR=15-1) 3503 *300H x12& 1,260
DSISEE 822 2,180& x40 123 1,047
O2 ¢zl 914
DHEH(MUHER) 7933 «2[H*BAl 2tx72L 914
O3 Al ZHlIs Xl 2,000
DHIFH RANES 2,000,000 =14 2,000
202 odl 11,680 11,680
01 = LH YI 11,680 11,680
OJI2g=2=8 ol 7,680,000 » 14! 7,680
OXNHE & 234 H2FX 220l
4,000,000& =14 4,000
203 2 EFH| 4,860 4,800
VTS 4,860 4,800
ORN2ILR A 405,000& x12& 4,860
405 XHoHE S HI 3,900 8,300
01 AL ESFHSHI 3,900 8,300
OPC(2 AI) 1,300, 000& *3CH 3,900




